Bass Drum Spur / Spur Bracket
@ : discontinued model

1 »
)
~ #)
p ) I~
- 1 | 1-1
_58mm_

9 L=

A e

STAR Drum
Substitutable "
No. Model No. Model No. Description
1 MSB90R Spur bracket (player's right side)
MSB90OL Spur bracket (player's left side)
1-1 MS412N20P Mounting Screw M4x12mm (20pcs/set)

Starclassic (2023~),Starclassic Walnut/Birch (2023~)

Chrome Plated Finish

1 MSB35R* Spur bracket (player's right side)
MSB35L* Spur bracket (player's left side)
1-11 MS620HNTEW Square head bolt M6x20mm, washer & hex nut set
1-12 HB840WNS8T Bolt M8x40mm, spring, washer & wing nut set
1-2 MSB30-04 Rubber spacer
1.3 MS412B20P Mounting Screw M4x12mm (20pcs/set)
MS414B20P Mounting Screw M4x14mm (20pcs/set)
2 MSP-SCT Bass drum spur (2pcs/set)
2-1 MSP-RT Rubber nut
2-2 MSP-NT Metal nut
*MSB35R and MSB35L come standard with MS412HSB

Black Nickel Plated Finish

1 MSB35RBN* Spur bracket (player's right side)
MSB35LBN* Spur bracket (player's left side)
1-11 MSS620WSBN Square head bolt M6x20mm, washer & hex nut set
1-12 HBS840WSBN Bolt M8x40mm, spring, washer & wing nut set
1-2 MSB30-04 Rubber spacer
13 MS412B20P Mounting Screw M4x12mm (20pcs/set)
1-11 MS414B20P Mounting Screw M4x14mm (20pcs/set)
2 MSP-SCBNT Bass drum spur (2pcs/set)
2-1 MSP-RT Rubber nut
2-2 MSP-NTBN Metal nut
Lomm 2 2-2 2-1 *MSB35RBN and MSB35LBN come standard with MS412HSB
LC‘ T Smoked Black Nickel plated finish
n~ # 1 MSB35RU* Spur bracket (player's right side)
- MSB35LU* Spur bracket (player's left side)
210mm 1-11  |MSS620WSBN Square head bolt M6x20mm, washer & hex nut set
1-12 HB840WNS8TH Bolt M8x40mm, spring, washer & wing nut set
1-2 MSB30-04 Rubber spacer
1-3 MS412B20P Mounting Screw M4x12mm (20pcs/set)
MS414B20P Mounting Screw M4x14mm (20pcs/set)
2 MSP-SCUT Bass drum spur_(2pcs/set)
2-1 MSP-RT Rubber nut
2-2 MSP-NTU Metal nut

*MSB35RU and MSB35LU come standard with MS412HSB




Bass Drum Spur / Spur Bracket

@ : discontinued model

Starclassic (2005~2022)

Starclassic Walnut/Birch(~2022), Starclassic Peformer B/B

0] oae 0 De ptio
ode (0]
Chrome Plated Finish
1 MSB30R* @ MSB35R* Spur bracket (player's right side)
MSB30L* @ MSB35L* Spur bracket (player's left side)
1-11 MS620HNTEW Square head bolt M6x20mm, washer & hex nut set
1-12 1-12 HB840WNS8T Bolt M8x40mm, spring, washer & wing nut set
1 £y 1-2  |MSB30-04 Rubber spacer
& 1-3 MS412B20P Mounting Screw M4x12mm (20pcs/set)
MS414B20P Mounting Screw M4x14mm (20pcs/set)
2 MSP-SCT Bass drum spur (2pcs/set)
2-1 MSP-RT Rubber nut
1-3 2-2 MSP-NT Metal nut
1-2 *MSB35R and MSB35L come standard with MS412HSB
Brushed Nickel Plated Finish
1 MSB30RH* Spur bracket (player's right side)
58mm MSB30LH* Spur bracket (player's left side)
= - 1-11 MS620HNTWH Square head bolt M6x20mm, washer & hex nut set
i 1-12 HB840WNS8TH Bolt M8x40mm, spring, washer & wing nut set
1-2 MSB30-04 Rubber spacer
58mm 13 MS412B20P Mounting Screw M4x12mm (20pcs/set)
1-11 c MS414B20P Mounting Screw M4x14mm (20pcs/set)
1 2 MSP-SCHNT Bass drum spur (2pcs/set)
2-1 MSP-RT Rubber nut
2-2 MSP-NTHN Metal nut
*MSB30RH and MSB30LH come standard with MS412HSB
12mm 2 2 21 Black Nickel Plated Finish
v __ pr= 1 MSB30RBN* @ MSB35RBN* Spur bracket (player's right side)
a 9 MSB30LBN* (#) [MSB35LBN* Spur bracket (player's left side)
T__ 1-11 MSS620WSBN Square head bolt M6x20mm, washer & hex nut set
210mm 1-12 HBS840WSBN Bolt M8x40mm, spring, washer & wing nut set
1-2 MSB30-04 Rubber spacer
13 MS412B20P Mounting Screw M4x12mm (20pcs/set)
MS414B20P Mounting Screw M4x14mm (20pcs/set)
2 MSP-SCBNT Bass drum spur_(2pcs/set)
2-1 MSP-RT Rubber nut
2-2 MSP-NTBN Metal nut
*MSB35RBN and MSB35LBN come standard with MS412HSB
Smoked Black Nickel plated finish
1 MSB30RU* @ MSB35RU* Spur bracket (player's right side)
MSB30LU* @ MSB35LU* Spur bracket (player's left side)
1-11 MSS620WSBN Square head bolt M6x20mm, washer & hex nut set
1-12 HB840WNS8TH Bolt M8x40mm, spring, washer & wing nut set
1-2 MSB30-04 Rubber spacer
1-3 MS412B20P Mounting Screw M4x12mm (20pcs/set)
MS414B20P Mounting Screw M4x14mm (20pcs/set)
2 MSP-SCUT Bass drum spur (2pcs/set)
2-1 MSP-RT Rubber nut
2-2 MSP-NTU Metal nut

*MSB35RU and MSB35LU come standard with MS412HSB




Bass Drum Spur /S

Starclassic Performer, Silverstar

@ : discontinued model

11.6mm

1 1-1 13 R 0 odel No odel No De ptio
= Chrome Plated Finish
& 1 MSB10 Spur bracket
s <57 ) 1-1 HB850WN8W Bolt M8x50mm, washer & t-nut set
// 1-2 MS620HNT6W Square head bolt M6x20mm, washer & nut set
) 1-3 MS414B20P Mounting Screw M4x14mm (20pcs/set)
1-4 MSB30-04 Rubber spacer
- 1-4 Bass drum spur ®12mmx L=346mm for 20"& 22"
*) - 2 MEIPHREICAP diameter 8 lug bass drum (2pcs/set)
/] ) MSP-RSC4P Bass drum spur ®12mmx L=315mm for 24" diameter
iy 10 lug bass drum (2pcs/set)
- 2-1 MSP-RT Rubber nut
2-2 MSP-NT Metal nut
Superstar Hyper-Drive
Black Nickel Plated Finish
_58mm_ 1 MSB10BN Spur bracket
Py ) 1-1 HBS850WBN Bolt M8x50mm, washer & wing nut set
\, . 1-2 MSS620WSBN Square head bolt M6x20mm, washer & hex nut set
58mm ) 1-3 MS414B20P Mounting Screw M4x14mm (20pcs/set)
1-4 MSB30-04 Rubber spacer
MSPRSC2BNP B‘ass drum spur ®12mmx L=346mm for 20"& 22"
2 diameter 8 lug bass drum (2pcs/set)
Bass drum spur ®12mmx L=315mm for 24" diameter
2 2-2 2 MEARSGINF 10 lug bass drum (2pcs/set)
2-1 MSP-RT Rubber nut
C‘ 22 |MSP-NTBN Metal nut
L
Superstar Classic
1 0 oae 0 '. e : € De ptio
1-1 Chrome Plated Finish
1 MSB65P Spur bracket
1-11 1-1 HB840WN8 Bolt M8x40mm, nut & washer assembly
, 1-11  |WN8P Wing nut M8, 2pcs/set
= X 1-2 S812SH Square head bolt M8x12mm
|~ | R 13 |MSB65P-01 Rubber spacer
:/:' A Se;z":gely MS412B20P Mounting sems screw M4x12mm (20pcs/set)
2 MSPIPT2 Bass Drum Spur (2pcs/set)
\ 2-1 MSP-INT Nylon nut
1-2 22 |MSP-IRT Plastic nut (toe)
]
i
£
£ f
S>r|
2
2-2 241
240mm




Bass Drum Spur /S

@ : discontinued model

Imperialstar (2019~(IE Model),2005~2018, 2023~(IP Model))

. -\' D aplie
1 w ’ls’f\: 0] oae 0 —_— a De ptio
12 Chrome Plated Finish
1 MSB65 Spur bracket
1-21 P 1-1 MSB601 Spur bracket only
) N ; ) 1-2 HB840WN8 Bolt M8x40mm, nut & washer assembly
' ’ , R0 1-21 WN8P Wing nut M8, 2pcs/set
@ AR N ) 1-3 S812SH Square head bolt M8x12mm
e i\ 1) *sold )
[/ 1 Sep:ately MS412B20P Mounting sems screw M4x12mm (20pcs/set)
) 2 MSPIPT2 Bass Drum Spur (2pcs/set)
1-3 40mm 2-1_ |MSP-INT Nylon nut
a &\ ) = — 22 |MSP-IRT Plastic nut (toe)
- El X ¢ 3 MSPIPT18 Bass Drum Spur for 18"BASS DRUM (2pcs/set)
E (s 21 |MSP-INT Nylon nut
T g 2-2  |MSP-IRT Plastic nut (toe)
2 Imperialstar (2017~2019, 2023~(IP Model))
2-2 241 Black Nickel plated finish
240mm N 1 MSB65BN Spur bracket
i D 1-1 MSB601BN Spur bracket only
T
) 11.6mm 1-2 HB840WN8 Mounting bolt M8x40mm, nut & washer set
1-21 WN8P T-nut M8 (2pcs/set)
3 1-3 S812SH Square head bolt M8x12mm
2.2 24 se;z\?’gely MS412B20P Mounting sems screw M4x12mm (20pcs/set)
2 MSPIPT2BN Bass Drum Spur (2pcs/set)
2-1 MSP-INT Nylon nut
2-2 MSP-IRT Plastic nut (toe)
3 MSPIPT18BN Bass Drum Spur for 18"BASS DRUM (2pcs/set)
2-1 MSP-INT Nylon nut
2-2 MSP-IRT Plastic nut (toe)
1 1o # Pl Imperialstar (2005~2011) @ :disoconinued model
| Substitutable _—
Model No. Model No. Description
5 1 MSB60 () Bass Drum Spur Bracket
1-1 MSB601 Spur bracket only
A 1-2 HB840WN8 Bolt M8x40mm, nut & washer assembly
- 1-21 WN8P Wing nut M8, 2pcs/set
1-3 S812SH Square head bolt M8x12mm
\g *sold .
separately MS412B20P Mounting sems screw M4x12mm (20pcs/set)
1-3 2 MSPIPT &) Bass Drum Spur (2pcs/set)
i) 0 — 2-1 MSP-NT Nylon nut
- £ 2-2 MSP-RT Plastic nut (toe)
£
w
n
|
11.6m 2 22 21
)

N _‘ ¢
240mm



Bass Drum Spur / Spur Bracket
(/) : discontinued model
Club Jam, Rhythm Mate
) ( No.
S €. PN
12 W & f

Substitutable "
Model No. Model No. Description
1 MSBRM Spur bracket
1-1 WNSRM Wing nut M8
1-2 MS514B20P Mounting screw M5x14mm (20pcs/set)
2 MSPCLJT Spur for 18" Club-Jam and Club-Jam Mini (2pcs/set)
3 MSPCLITL Spur for 14" Club-Jam Flyer and Rhythm Mate
(2pcs/set)
) @ _ 245mm 4 MSPCLJTLL Spur for 16" Club-Jam Suitcase (2pcs/set)
= 290mm | 290mm
" 50mm
n)
ey
1-2 Club Jam Pancake
Substitutable "
Model No. Model No. Description
MTBS6810 Spur bracket
1-1 EBA830WN Eye bolt, washer & nut assembly
1-2 MTB15BP Metal back plate
2 MSPCLJTP Spur for Club-Jam Pancake(2pcs/set)
2 ¥ Stagestar (2016~)
V' e, Substitutable -
1 No. Model No. Model No. Description
( 1 MSBSG Spur bracket
1-1 WNB8LJ Wing nut M8
1-2 MS512B20P Mounting screw M5x12mm (20pcs/set)
2 MSPSGT Bass Drum Spur (2pcs/set)
T\
WA
“‘. '\\
\\ \\
.\\ \
“I\‘ I\\\
\




